
Solution for Worksheet 5

1. Fill in the blanks:

� Answer: Ram bought 5 toys, and Shyam bought 8 toys.

2. Objective:

(a) Ram

(b) Answer: Shyam

(c) Both bought the same number

3. Subjective: Answer: Having more toys does not always mean more fun. It depends
on how much you enjoy playing with the toys and what kinds of toys they are.

4. Answer: 13 toys

5. Answer: 13

6. Group the following toys:

� Big: Car, Ball

� Small: Doll, Kite

7. Answer: True

8. Answer: 7 toys

9. Match the following:

� Answer: Ram – Bought 5 toys

� Answer: Shyam – Bought 8 toys

10. Answer: 5 toys

11. Answer: 6 toys

12. Creative Puzzle: Answer: 7 toys (draw 10 circles, cross out 3)

13. Answer: Ball

14. Story: Answers will vary. Sample: I bought a doll, a ball, and a kite. When I got
home, I first played with the doll, making her talk. Then I flew my kite outside...

15. Answer: 7 toys
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